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In the fractionating tower used for petroleum U e ek '
separation, which fractions stay near the bottorn | Tl L lpun oy g w8 Jid L o

of the tower and are drawn off there?
A - Fractions with lower boiling points R e L
B - Fractions with uch higher boiling points 36 o il dp pll st B
C - Fractions with small molecular masses e T U o
D - Fractions with shorter carbon chaing L e L
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In the fractionating tower used for petroleum
mnmmm stay near the bottom
of the tower and are drawn off there®

A — Fractions with lower boiling points

B - Fractions with much higher boiling poinis
C - Fractions with small molecular masses

D - Fractions with shortet carbon chains
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What is the name of the following alkane
Using IUPAC rule®

A= 2.1 3 mimethyl- 4.6 - diethy] heptane
B~ 4,6- diethyl - 2.2 3 - timethyl heptane
C= 367 7-1etramethyl- 3 - ethyl octane
D+ 4 - ethyl-2.2 3 6- tetramethyl octane

“T

kit A i Bl g e
* IUPAC
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e e S - 3242080 A8 T5 04 - B
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Rl Py 631242 -SN 4D

-ﬂ'll ﬂ'l,"'ﬂ'l,

am il il




| Whatis the corect name or the compound
| shownin the figure below?
A~(3 - methyl - 2 - chloro butanone)

B (2 chloro 3 - methyl butanone)

| C~( 2~ chloro -3 - methyl butanal ) i i .
D~ (3 chloro - 2 - methyl butanal) (ORawdéss= 255088
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Whick of the following moleculas formsila rejresents
s cycloalkane with six carbon atoess®
A-CgH,

B - CgHye

C-CsHi»

D-CHy
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C Compeund | ¢ am form geomelric ivsmer be e

W a0 dwabsle boad and cachcarbon stom araund i
bomds with different stoan sl groem

D The three compownds ¢ amnnt (iirm geo e ric namers
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|
CHy=CaC=-CH-CH;-CH,

'l;'Hu
CHy - CH = C - CH; - CH, -~ CH,

CH,
Wi - CH = CH - CH - CH; - CHy

:_I'h
CHy ~C=C-CH:=-CH-CH)
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Which of the following is not a propertyof
slkrun®

A = Are gonpaolar organic compounds
B - Have low solubility in water

C - Have high melting and boiling pownts
D -Azr mote reactive than alkanes
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- are structural isomers 1o each othes Which fermats
Boes et reprevemt a structrsl momer for the
wiler (omponmi T
A - Formmmla |

B - Formula 2
C - Formula 3
D - Formula 4

i

CHCHy
LHy

R RS




CH;~C - 0 - CH,CH,

0
ﬂiﬂﬁm‘: -0 - CH.CH,
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Whatis the correct structursl formulaof
the compound ( 4 -methyl - 2 - hexene)?

CH;,-Ca&C~-CH-CH;-CH),

‘I:'Hr
B
CHj -CH=C - CH: - CH; - CH,
CH,
i
CH, - CH = CH - CH - CH; - CH, c
CH,
' D
CH; -C=C-CH; - CH - CH;
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'II What is the crevect nase frx the srmmatic compound
shown ie the figue below

A=i 1 propst 4,3 - diethyl bemrsms | L et L

B- (1 - prepsl- 3,4 - disthyl hemssns | (abr 3 AS < 4.0 dmie -1) -B
C- i, 5~ divthyl |~ progyl bemes ) (s - 1 S S !-ﬂ-
D- (1.2 - disti! - &~ prop | bamins ) { e ok 4 - S AZ 2 1) =D




[ Whai is the namw the compound with the following
vructual fortsda using 1UPAC rules? fMUrAC
A~6ethyl 2.2 dimethyl - 3- heptyne | oS3~ e (A3-242- JH-6 - A
B-2,2,6-mmethyl - 3- octyne g3 e - 6:2:2 -B

C-3.7.7-trimethyl - 5- octyne B - 5 - Je B 74753 w0l
D 2-cthyl - 6 ,6- ditncthyl 4 - heptyne| (s —4 - S 33-6:6-J4-2 -D |
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| ImEtInie DelOwW SnoWY te SINEMTTY 0T Metnane Ana-
water in molecula mass They are also vimilar in both
sire and shape Why does Methane exist is the gas state
with & very low boiling poiat?
A = Mathane molecules wre polu while waler molecales
are nonpolar
B - Methane molecules are nompolar while sater molecules
ars polar
C - Methane molecales formi hvdrogen borids with eachi
other
D= The aftrection forces betvoeen Methane molecules
are very strong
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What in the correrd sirwctund fogmmda B ihe
mend cycloalionme
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Which of the compounds in the tabe is
& satnrated by idroenrtum

ﬁ.-‘l'hmlqdr
18~ The compownds 2,3 only

< €M, - O - C, - O - CW '
€ = The compound 3 anly €W~ N, -, -

D = The compounds 1, 4 puty | ©% - O - € =00~ O, - o, 3
EHaC - OO - OWy - O = £ 1
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Three of the following structures are exactly
alike, but the fousth represents an optical

isomer of the otherthree. Which s the optical
somer?
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A-1
B-2
Q=

-A'
-l-B'
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-C
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